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SN BES
M S22 EHG
& Faze (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A& XAl 130,000 * 2CH 260
FAXY BE=2(XY, 58, Q)
2,100,000& = 14 2,100
HIIEA =8 180,000& * 204 360
- M2ESEIFE 1,450
B8z 1,050,000& * 14 1,050
BIMNERE S 100,000& * 23| 200
IIEAN =2 70,000& = 104 70
A& XAl 130,000 * 1CH 130
— SASMYI BEF=H IHE 1,515
S3MERES  100,000& = 104 = 23l 200
RSP 130,000& * 1CH 130
SES (MY, B, 2EXN)
1,005,000 = 14! 1,005
FIIEA =2 180,000& * 1CH 180
— MY AENBT(IEEY) 2,715
BIMERES 45,0003 *3H 135
A& XAl 130,000& * 3CH 390
SES (MY, B, 2EXN)
700,000 »3CH 2,100
dIIEA =2 30,0003 =30H 90
— MYDlZEHR =X OIEX BEE2(HY
Y ZEHEH) 300,000& = 14 300
O &2l 44,780
- EaXg fFU & |Xd
1,050,000&  2CH  12& 25,200
- MHEsSE ¥ RFU £ FXUI(5E)
840,000& = 104 » 12& 10,080
— Moz dR=H 0EX RXH S
500,000& =« 1CH 500
— MY AENB(IEEY)
9,000, 000& 9,000
=Xz2el 30,560 490 30,070
TEAMY = 30,560 490 30,070
YR F4A 30,560 490 30,070
201 Let24d] 560 490 70
01 At 22l 560 490 70
O MEURFX SSH(A=sY, 8ol g
Ab) 8,000&  70H 560
401 AIEHI L 201 30,000 0 30,000
01 A& Hl 30,000 0 30,000
O A& H SHIJI A 10,000, 000& *23| 20,000
O A&® HG2 MA AMZ 10,000,000 *13] 10,000
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SN BE2S
HE: NEYES
SHl: AE R Of A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MEES 9,040 8,260 780
At= 2 XICH 2 9,040 8,260 780
SEEX 9,040 8,260 780
201 Let24d] 6,940 6,160 780
01 At 2teltl 6,240 5,460 780
O L=SH 2RI 2l
8,000& * 6% = 130 6,240
02 324l 700 700 0
O Msdsxteyd s sX2el
700,000& * 1CH 700
401 AIEHIZL 201 2,100 2,100 0
01 A& HI 2,100 2,100 0
O MEAFX 2HII & sRMS =H S
MENYES 2,100,000& 2,100
N (HES) 50,000 50,000 0
ARLFUSRAANG(HES) 50,000 50,000 0
HEURAYAND(HES) 50,000 50,000 0
401 A& HIZ 2018 50,000 50,000 0
01 A& HI 49,460 49,460 0
O AnI2F0EAAY X 49,460,000 49,460
03 Al 2 THHI 540 540 0
O 2AR2FUEHAAY X2
50,000, 000& *1.08% 540
HH2HZHI(BES) 189,084 180, 124 8,960
JlE3l 189,084 180, 124 8,960
JlE2&l 189,084 180, 124 8,960
201 Let24E] 83,024 74,064 8,960
01 At 22l 55,024 46,064 8,960
O 2et==&H| 28,690,000 28,690
O 2g=¢ 6,750
- 2 3G 50,000& = 1€ = 135¢ 6,750
O =&l 8,000& = 34FH~* 6 » 123 19,584
02 =224l 28,000 28,000 0
O 23223 % HMA 28,000,000& 28,000
202 44l 91,100 91,100 0
01 SLHOIYI 21,500 21,500 0
O WA 21,500,000& 21,500
02 M0 69,600 69,600 0
O EHNHI 200,000 = 299 « 12& 69,600
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